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0.5 2.0 2.0 2.00 16.91
1.0 6.5 7.0 6.75 57.08
1.5 12.5 13.0 12.75 107.82
20 16.5 170 | 16.75 141.65
2.5 20.5 21.0 20.75 175.48
3.0 245 250 | 24.75 209.31
5.0 36.0 36.5 36.25 306.56
1.5 520 52.5 92.25 441.87
10.0 70.0 70.5 70.25 594.10
12.5 — — — —

CBR=2.5mm (& A5&E) 1370 X 100(%)= 12.80

B>

( 8.6 ) M

600

500

400

300

200

100

CBR=5.0mm (& A5&E) <2030 X 100(%)= 15.10

2. 5.0mmE ARE

//
yd g
y
4
S
//
1 2 3 4 5 6 7 8 9 10 11 12 13
EAZE(mm)
306.56 kg/crﬁ
CBR 15.10 %




RLE 7 AIE NO.3
RBg: FoERRLT HERE:  $W5E2H24H
RBRE4: RIF K
1.HBRER
BEIEMM | aBF+t(e) b.&(e) c.t (@ ERED RIEE®)
40.0 555.0 555.0 0 0 100.00
37.5 542.7 542.7 0.0 0.00 100.00
31.5 528.2 528.2 0.0 0.00 100.00
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